XFEL-BC2 vs energy, absolute chirp = const
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2500 MeV: without / with shielding (h=1cm)
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XFEL-BC2 vs energy, absolute chirp = const
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about shielding

CSR in circular motion:
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reference particle along BC 2500 MeV: without / with shielding (h=1cm)

0.5
longitudinal force

=2 0 2 4 3] g 10 12 14 16 18 20
position in BC/m



about shielding

wave propagation in drifts: v (a,cjz
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reference particle along BC 2500 MeV: without / with shielding (h=1cm)
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2500 MeV: without / with shielding (h=1cm)
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compression factor = 5
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reference particle along BC

green's, 17000 particles, no shielding ... shielding: h=1cm hmax=30cm
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511 MeV

h' vs hor
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field in center of bunch
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about shielding

reference particle along BC
2500 MeV: without / with shielding (h=1cm)
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